
���������� 	
���� 

 ������������� 

���

��� �� �
���
��� ����� �� �
���
�

���� ������	 ��
���
����� ���
��	
��� ������ ��������	�� ���	
 ��� �	�
��
���� ��������� ��� !"#�� $��	 ��%���		�� "& ' �( � ���

�������� �� ������ ���� ����!��� �" ����� ����

��������

#����
�� $
����� ���� 

�	������ ���
���% ������!��
�� 

 ��� �������� ����	���� 	
��� 

 
���� !�
!�����
��

���� $���� ��� ���������%

�
�����&��� '� !������ �$
 �
	!���� 	��������� 	
���� 

 
������������ 

����� ��� ������ ��� �������% 

 ��� ����	!��
�� ���� �� ���

������	��� 

 ���
������ �� ��� �������� ������!��
� ��� �
 ���	����� ��� ������(�� �������
� 

 �� ��)���� ��	(�� 

 !
���(�� �
����
�� 

�

���
���% )����� *�� 	��������� 	
��� 

 

�����

������ )
���� )
��� (���� 
� ����
�� 

����� ���
�%� �� ���� �
 ������ ��� ���
���% )���� ��

�� ����
��
!�� ����	�����% �
��� 
����%��� 
������ ��� ���!����� ����� (���	��� (�
���� *�� �
����
� 

 ���!����	���� ��
��� � �������
���


���� �� �� ������� (
�% �� ���� �
 	
��� 
����������� 

��� ���� 

�	 ��
��� � 
���� �	(����� �� � ��

�	�� 	����	� *�� ������� �������� ����

��� ���
���% )���� ����	�� �� ��� �������� 	
��� 	
�� ��
���% ����	(�� ��� ���
������ ������� �� ��� 	��������� )
���� )
�� 	
��� ���� ���

	��������� 	
��� 

 
����������� 

������ *�� )
���� )
�� 	
��� !�
����� � ���������� ����
� 

 �
���������� ��

�	���
� ��	���� �
 ���

�������� ����
� ����	�� �� ��� ����	���� 	
����� $���� ��� ��

�	���
� !�
����� (% ��� 
����������� 	
��� �� �
� �
���������� $����� �

���������� +
��� � ���� ,������� -������ .��� ��� ������ ���������

���*
���/ ���������� 	
���� *������� 

��� 0��
���% )����

�	 
����
������

1� ��� ���� ������� ���������� ��
�
����� ���� �������

����
�� ����	���� 	
���� 

 

�����

��� ��� 
�����!�
!��

����
� 

��� �
 ��!�
���� ��� ��
	���% 

 (���	����

���
���� �!��
�� 

 ��� �
��% �
������ 

������ 2,������

�33� 4��� ��� -�!!�� �335 6���% ��� 7
��� �338 

���	��������� �339 ����� ��� �
���� �339:� *�� ������

!������ �������� ���
���% 	
��� 27��� ��: $�� ����
����� (%

,����� 2�33�: �
 ��!������ ��� ��
	���% 

 
�����!�
!�����
�



��� 	
�� �����% ���������% ���� ��� !������� ��������� 27���

�;: ���!����� �
��������
�� (%� 

� �<�	!��� -�!!� 2�39=:

��� 4��� ��� -�!!� 2�335:� �
�� �������%� 6���% ��� 7
��

2�338: ��� >������ ��� ���	�������� 2����: ����

!�
����� ���
���% 	
���� ���� ��� �������
�� 
� ��� 
�������

	���
� !�
!
��� (% ,����� 2�33�:� *�� ���
���% 	���
��

������ 

�� 

�	� (% �!���
%��� ���
������ �� !
���� ��

��� 	����	 ����
������ ��� 

���!�
������ 
����� *��

���
������ ��� �������� ���
����� �
 � ��� 

 ����� ����

����	� ���� (������ $����� � ���������� ����� +
���

����
��� 	��% ����
�� ���� �
	!���� 

�� 

�	� ������

���� $��� ��� �������� 	���
� $��� 

�� 

�	� �� �<!���	����

��� �� ��� )���� ��� �������% 

 ��� ����	�� �������� ���
���%

������(���
�� ��� �
� (��� ������� $��� ������� ������� 
�
	

���
������� 	
���� 

 
������������ 

������ *�� ���� 

�

���� ���
������� 	
���� $�� ���
���+�� (% >������ ���

���	�������� 2����:� $�
 ��
$�� ���� 
�� ��� ��������

�� ��)���� ��	(�� 

 ���
���% ������(���
�� ���� �����
% ���

�
�����
�� �
�������� �� ��� ����	���� 	
���� 

 ,�����

2�33�: ��� 6���% ��� 7
�� 2�338:�

1� ���� !�!�� $� !������ �$
 	��������� 	
���� 

 
�����

������� 

����� ��� �
	!��� ��� ���
������ ��� ���!�����

	���� !�
����� (% ��� ���
������� ����%��� $��� ��� ���
���%

)���� ����	�� �� ��� �������� ����	���� 	
����

�	 �������� ���
� ��
 ���
 ����� �����
��� �� ��������
��������� ��
��

+��� ������� �
���	�
��

*�� ��������� ���	���� 

 ��� �������� ���
���% 	
����

�
����� 

 ����� ����
�� �� ��� �������% 

 � 
���� ��! ��

$���� ��

����� ���
���% )���� ��� �������� 27��� ��:�

?
������ ���
���% )���� ��� �������� �� ����
�� 1 ��� 11�

*�� 	������� �� ����
� 1� �(
�� ��� 
����� 	
��� �� � �����

(
�% �� ��� ,��������
�� !������� �
 ��� 
����� *�� 	������� ��

����
� 11� (��
$ ��� 
����� �� ���
 ����� (�� �
�� �
� 	
���

-���� ��� 	�������� �� ����� ����
�� 1 ��� 11 	
�� �������� �



�� ��
����� ��� 	������� �� ��� ����������� @��������A +
��

�
����� 

 -��������� B�
�
�% �5 2����: �88C�98

��3��9�5�D��DE � ��� 
�
�� 	����� � ���� ,������� -������ .��� ��� ������ ���������

#11/ -��3��9�5�2��:���F���

$$$�����������
	D�
����D�������


� ?
����!
����� ����
�� 4
$ ��/ B�
!�%���� G�!���	���� -���

��

H��������%� -���

��� ?�� H-��

�-���� �������. ���I!����������

������ 2���� �
���
�:�



2+
�� 111 �� 7��� ��:� 	��� ��

�	� *�� ��������� 

�� 

�	

�� �
	!���� �� 	����!�� ��	� ���!� (% ����������� ���

���
������ �� !
���� ��)���� !������ 	������ $����� ���

�������� +
���

1� 
���� �
 ������(� �
$ ��� 	������� $����� ��� ��������

+
�� 	
���� �� �� ����	��/

�� *�� 	������� �
�� �
� ������ �
��	�� >������ ���

���	�������� 2����: �<!������% ����	� ���� ��� �$
�

��	����
��� �
�������% �&����
��

��,
��

�
���
��

� �

�� �!!����� ��� �	!������% ����	� !���� J
$� ���� �� ���

���
���% �� ��� /��������
� �� +��
� �!!������
� 

 ���

�
�������% �&����
� ���������� ���� ��
��������
��� ����

�� !�������� 2�
 ������% ��	���� �
������:� $���� �� �

��
)����� �
�����
� 

� (������� ���������� !�
)����

"� *�� ���
���% �
�	�� �
 ��� 
���� �� +��
 ��
�� ��� (
����

��% (��$��� ����
�� 1 ��� 111 ��� ��� ���
���% !������� �


��� 
���� �� �&��� �
 ��� ���
���% !������� �
 ��� 
����

���
���
�� ����
� 1� *��� 
�� (
�����% �
�����
� ��

�, � ��� �� � �� �� � � ,�����

5� *�� 	������� $����� �������� ����
� 111 �� $����� �
 ���

����� 	������� �� ����
� 11 �
 ���� � ���
�� (
�����%

�
�����
� �� ����� ��
�� ��� (
�����% (��$��� ����
��

11 ��� 111

�, � �� � �� �� � � �,�����

*����

��� ��� !���	����� ���� ��� (� ������ ��� � � ���

� �� ��� ��� ��� ���
���% ������(���
�� �, ��� ��� $����� ���

�������� +
��� *�� 
���� ��! 	�% ���
 (� �<������ ���
 ���

���������� ����
� �
 ��!������ 
�����!�
!�����
� 

���� ����

��� !�
!�����
� �
 ���! ����
 	�% ���
 (� �!���)��� ����
���

����
�� ���% ����� !���	����� $��� ����	!���� �
 ��!�
����

��� ��
	���% 

 

���� 
��% 
�� 

 ��� !���	����� �� �����/ ��

�� � ������(
�% 	
��
�� 1� �� &���� ������� $��� !�%������

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �89

7��� �� ����	���� 	
���� 

 
������������ 

���� 2�: *������� 

�� 2,������

�33�:� 2;: 7�����!�
!�����
� 

�� 24��� ��� -�!!�� �335:�

7��� �� 2�: *�� ��
	���% ����	�� �� ��������� 0��
������ ��� ���

�	 ���

!������� �
 ��� 
���� �� ����
� 1 ��� +��
 �� ����
� 11� � ���
���% ������(���
�

�����
%��� �
�������% ��� (
�����% �
�����
�� �� �������� �� ����
� 111�

2;: �� �<�	!�� 

 � �������� ���
���% )��� ������� (% >������ ���

���	�������� 2����: 

� ��� ���� �� � � � � �=��

A. homogeneous trishear

B. heterogeneous trishear

7��� "� *$
 �%!�� 

 �������� 2�
��� ,������ �33�:� 2�: 6
	
����
��

��������� 2;: 6����
����
�� ���������



	��������� �
�����
�� ��� !���	����� � � ��� � � 
� ���

���
���% ������(���
�� �, ��� ��� ������(� 2���	���������

�339:�

+�+� ������ 8�����	�� �
���

,����� 2�33�: ������� �$
 �%!�� 

 �������� ��

�	���
��

$���� �� ������ �
	
����
�� ��� �����
����
�� ���������

7��� " ���!��%� ��� 

�� 

�	� 

 (
�� �%!��� 1� ��� �
�������

��
��� ���� ���	���� !��!��������� �
 ��� 
����� ������ ���

������ ��� �
��������� �� ��� ���������� ����
�� 6
	
����
��

�������� �
����� ��� ��� ����� ���

�	�% ���
���
�� ��

��

	���
�� $������ �� �����
����
�� ��������� ���	���� 

 ���

����� �� ��� ������ 

 ��� ���������� +
�� �
���� 	
�� ����

��
�� ���� ��� �������� (
��������� ,<�	!��� 

 (
�� �%!��



 

��� ��� ��
$� �� 7��� "� *���� 

��� $��� ���������

$��� � 5=� ������� 
���� ��� � � � � � � "���

+��� 9����2)
�� 8�����	�� �
���

6���% ��� 7
�� 2�338: ������� ��� ���������� ��������

����
� 2111� 7��� ��: ���
 ����
�� ��� �����)�� �
�������% ��

���� ����
� 27��� 5:� *��% ����	�� ���� ��� 	�������� 

 ���

���
���% $����� ���� ����
� $�� �
������� (�� ��� ����
�

���
������ ��������� �������% 
�
	 ��� �
! 

 ��� ����������

����
� �
 ��� (
��
	� *�� �
	!
����� 

 ���
���% �� ��� ���

����
� ��� ����� (% ��� �<!�����
��

�,
� �

�� ���
� ��
� � ����

��

� �
�
� ����� ��

� � ��(�
$���� �� �� ��� ��� ���
���% �� ��� ��� ����
� ��� � � �� ������

��
� 

 ��� ���
���% ����
�� �����	���� (% �
����� ,&�� 2��:

��� 2�(:� �
������ $��� ��� �
������� (�
�� �
����� �
�����
�

��

� �
�
� �,
� �

��% ��, � ��

� �
���

� �,
� �

����% ��, ���
$���� % �� ��� (
�����%� *�� �<!�����
�� 

� ��� ���
���%

�
	!
����� 2,&�� 2��: ��� 2�(:: �����
% �
�������%�

+�'� :�
����2���������3�� 8�����	�� �
���

>������ ��� ���	�������� 2����: ������������ 	
��

��
�
����% ��� ���
���% ������!��
� 

 ��������� *��%

!�������� � ������� 	���
� �
 ������ �
����
�� �
 ��� �
����

����% �&����
� ���� �����
% ��� (
�����% �
�����
��� 7��� �;

�� 
�� 

 ����� ���
���% )��� �
����
��� $���� �����)�� ���

����� ���� 

 �
�����
�� 
������� �(
��� �� 
�� 

��
$� �

�
$ 

 ���� !
����� ���� �� ���� �		�������% �(
�� ��� 
����

��!� 
�� ���� ���� ��� ����
�� �������� �� ������ ��� ����

�
$�$��� 	
�� $��� ���������� �
��+
���� �������� 
�
	

��� 
���� ��!� �� 
�� 

��
$� � �
��	� 

 ���� !
����� 
��

���� ���� ��� ����
�� �������� 	
�� ��!���% �� ������ ���

���� �
$�$��� 	
�� $��� ���������� ��!���

*�� ����%��� (% >������ ��� ���	�������� 2����:

!������� � ����		�� ��
���� 6
$ �
�� 
�� ������ � �
���

��
�K *��% ��
$ ���� ����� �� �� 
��� �� ��)���� ��	(�� 



!
���(�� ���
���% 

�	�����
�� ���� �����
% ��� ����� �
��

����
�� 
������� �(
��� *��� ������ ����������� � $�������



 ��� �������� ����	���� 	
��� 2������� 

 ��% �������%

����	���� ������!��
� 

 � !�
����:/ �� ����	���� ������!�

��
�� ����� �� �� ��)���� ��	(�� 

 $�%� �
 ������ 	
��
��

���� �����
% ��� �
�����
� 

 �
�������% 2���� �
��������
�:�

���% 

 ����� 	
��
�� ��� !�%������% ������(��� *��� �� ��

����� ���� 
���� �
�����
��� �� ������
� �
 �
�������%� 	��� (�

�����)�� �
 ������(� ��� ��
	���% 

 
������������ 

��� 2
�

��% 
���� !�%����� !�
����:�

�	 �������� ���
� ��
 ���
 ����� �����
��� �� �����
����

���������� ��
��

1� �� $��� ��
$� �� �
������	 	�������� 2���� .
���

�355 *�	
�����
 ��� B

���� �3=� �������� �3F3 

�
���
�� �38�� �388 �
���
� ��� 7�������� �335 7�������

��� #
������ �333: ���� !�
!���% 

�	������ 	���������

	
���� 

 !�
������� ���� �� 
������������ 

������ �������

����� 
���� �
�����
��� *�� �
����
�� !�
���� ��� ���
���%

)��� ���&���% 

� � ����� ��� 

 �
�����
��� � �
	!����

	��������� 	
��� �
������ ������� (���� �&����
��/ �
��

��������� ������
��� �
	!���(����% 

 ������� 2������� (
�%: 
�



 ��

�	���
� ����� 2����
�� (
�%:� �&����(���	 �&����
���

��� ��
)����� ������
� ��� ���
���% (
�����% �
�����
��� ���



 $���� ��� ��������% �
 �����	��� ��� ���!����	��� 2
�

���
���%: ��� ������ )���� �� ��� ��

�	��� 	����	� 1� �
	�

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �83

fault

vx = v0
vz = 0

vx = 0
vz = 0

ith sector
(vx)i = vicosθi

(vz)i = visinθi

7��� 5� *�� �������� ���
���% )��� ������� (% 6���% ��� 7
�� 2�338:�



������ 
���� �&����
��� ���� �� ��� �
�������% �&����
��� ���

���
 ���
��� ��!������ 
� ��� �%!�� 

 !�
������ (����

	
������

'� $��� �
������ 	��������� 	
���� 

 �$
 ���% ��

�����

	�������	� 

 
������������ 

������ *�� )��� �� � �
����
�

������� (% �
���
� ��� �
���
� 2����: ��� #���
� ���

7������� 2�339��(: ���� ���� 	
���� ����
�� 

����� ���
�%

2�
���
� ��� 7�������� �335: �
 	
��� 

�����

���� *��

���
�� ���� ��� �
����
� ����� (% *��� �� ��� 2�39=: 

�

��� ���!����	���� ��
��� � ����� �	(����� �� �� ��)����

������� (
�% ��(������ �
 
���)��� ���������

1� ���� !�!�� $� ��� ��� ���	 

�����

�� 

� 

��� ����



�	 (% � �!���)� 	�������	� *�� 

�����

����� 	�����

���	 �
������ 

 � ������ 
� 	�������%�� 2����	�����% �
���:

���� ��

�	� 	
�� 
� ���� !�������% 
��� ����� (���	���

(�
��� ���� ��� ���!����� ��
�� !����� 
� ������� 
�����

2-������� �389:�

���� �
��	�
� 
% �
������-����� ��
����

��� 

 ��� 

��
$��� �&����
�� ��� ��&����� �� 
���� �


������ � �
����
� 

� !�
(��	� 

 

���� 

����� 

 � ����
��

����
��
!�� J���� 7
� !���� J
$ 2+��
 J
$ �� ��� ��������

��
�: ��� �
��	�	�	��� �;��	�
�� ��� ����� (% ,&�� 29���8: ��

�
���
� ��� 7������� 2�335� !� "8":

�<< � ���=<< � � �"��

�:: � ���=:: � � �"(�

�
<:����=<:

�"��
�� $���� � � �� ��� �
�	�� ��� � � �� ��� ����� �
�
)����� 



����
���%� � �� ��� 	��� !�������� � �� ������ ��� = �� ��

��

	���
� ����

=<< � ��<��,
� � �5��

=:: � ��: ��/
� � �5(�

=<: � ����� ��<��/
� �

� ��: ��,
� �� � �5��

*�� �
�����
� 

 �
 �
���� �
��3� �� ����

=<< � =:: � ��: ��/
� �

� ��<��,
� � � � �=�

*�� �;��	�
�� 
% %
��� ��� �
���	 �;����������

�
	(���� $��� ��� �
���������� �&����
��� ���� ��

��������

�&����
�� 

 ��� 

�	 

 ,&�� 29�"�": �� �
���
� ��� 7�������

2�335� !� "85:

��� � ��

� �
���<��,

�
� �

� �� ���<��/
�

� �
� �����,� �F��

��� � ��

� �
���: ��/

�
� �

� �� ���: ��,
�

� �
� �����/� �F(�

1���
������ � �����	 
�����
�� � � ���� ���� 2,&�� 29�"�":

�� �
���
� ��� 7������� 2�335� !� "85::

�< � ������/� �8��

�: � ������,� �8(�
$� ���� ��� �������� 

�����
���� ��

�������� �&����
� ����

����� �
 (� �
���� 2,&�� 29�"�5: �� �
���
� ��� 7�������

2�335� !� "8=::

� 5�

�, 5
� � �

��

��

� �

� �
�5�

�, ��/�
�

�5�

�/ 5
� � �9�

*�� �������� �
����
� �
 ��� ���
������ �� ��� 	���������

	
��� ��� ��� 

�	

�, �
	�
���

�


��3��

3���/ � ��3���3���/ � ��3��3���/

� ��3��
3���/

�
����, �3��

�/ �
	�
���

� �


��3��

3���/ � ��3��
�3���/ � ��3��3���/

� ��3��3���/
�
����, �3(�

3��� �
���������������������������������������
�
��

��

� � �

���������������
�
��

��

� �

� �
 �

� �

���� �3��

$���� ��� �
	!��< �
�
)������ ��� ��� ��� ��� �� ��� ������

	���� (% ��� (
�����% �
�����
�� ��� �� �� D� $���� � ��

��� $��������� 

 ��� ���
��� �� ��� (���	���D�
��� �
������

'� �
��� 

� ��� 	��� !������� (% ��(��������� ,&�� 23�:C

23�: ���
 ,&�� 2F�: ��� 2F(: ��� ������������ *��� $� �
���



� ��� �������� (% ��(��������� ��� ��������� �<!�����
� 

�

	��� !������� ��� ,&�� 23�:C23�: ���
 ��� �
����������

�&����
�� 2"�:C2"�:� *��� $� ���� ��� �
	!���� �
����
��



� ���
������ ��� ��������� ���
���
�� ��� (
�%� �
 $�����

������ ����� (% ��� (
�����% �
�����
��� 4
�� ���� $� ���

�
� ���� �
 ����� ��%������ *�� ���
������ ��� �������� �
	�


�
	 ��� �
����
�� ��� ���� ��	���� �� �
 �������� ���

��(�����% �
������� �� ���	� 

 ��� (
�����% �
�����
���

�� ��������� �� �
���
� ��� �
���
� 2����: ��� #���
�

��� 7������� 2�339��(:� � ���
���% (
�����% �
�����
� ��

�!!���� �� ��� (���	�����
��� �
������ �����	���� 
�
	

��� ����� 	
��
� 

 (���	��� (�
��� ��
�� � 
����� ��� �

������
��
��� (
�����% �
�����
� 
� ��� �!!�� ��
���

���
��� 2*�� �
�	�� ��� ����� ������
�� ��	��� +��
 
�

��� ��
��� ���
����: '� ���� ��� �! ��� �
����
� �
 ����

$� ��� ����% �

���� 

 ������� �����(���/

�� -��!� 

 ��� 
����� *�� 
���� 	�% (� � !���� 
� � ��������

�%��������� ����

�� -��! 
� ��� 
����� L��% ��! ���! �� ���
$��� (�� 
�������

	�% (� �
�	�� 
� ��������

"� ����
��
!% 2� �D� �: 

 ��� �
���� *�� ����
��
!% ����
 ��

��� ����
 

 ��� �
�
)����� 

 ����
���% �� ��%���!�������

��� ��%����
�	�� �������� �
 ��� �
�
)����� 

 ����
���%

�� ��%���!������� ��� ��%����
�	�� �
	!�����
��

,��� ����� 

 ����
��
!% 2� �D� �: 	
���� ������� �
��

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �9�



!�
!������� 7
� �<�	!��� � ����	�����% �
��� �
	!
���



 �����(����� ���

 ��� �

� ��%��� 	���� ���� � �D� � � "�

7
� 	��% ���� ��%��� ���!!��� 
����%� ��� ����� $
��� (�

�������

5� ;���	�����
��� �
������ '� ��� ���% ��� ���������� �


���! ��
�� ��� (���	���D�
��� �
����� 
�
	 �
	!�����%

�������� 2+��
 ���������� �
 �������: �
 �
	!�����%

$����� 2�
 ���!!���:�

'� ���� $������ ��� �
	!���� � �
	!���� !�
���	 ��

�����(� )
����-)
���� ���� �	!��	���� ��� �
����
� $��� �

BH1 2���!����� ����A� �����
���:�

��+� ������ 
� ���	��� �������	 %���	

7��� = ���!��%� 

�� 

�	� ��� ���
������ ��������� (%

)
���� )
�� $���� 	
���� ��� ��

�	���
� 

 ��%����

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �9�

7��� =� ,

��� 

 ���!� ��� ��! 

 (���	��� 
���� 
� 

�� 

�	� ��� ���
������ �� ����	�����% �
���� 7
�� 

�	� ��� ���
������ ���������� $��� ��� 7
�����7
��

	��������� 	
���� ,��� 

�� �� !�
����� �� �� ��
��
!�� �
��� $����� �
 ��� (���	���� 2� ��� ;: F�� ������� 
����� 2? ��� G: "�� ������ 
����� 2, ��� 7:

������� ������� 
�����

� � ����� �����
� 

 ��� �
	!���� !�
���	 )
����-)
�� 	�% (� �
$��

�
���� 
�
	 ��� #����� H��������%� G�!���	��� 

 ,���� ��� ��	
�!�����

-������� )��, ��� �
%	*��� $�(����/ ���!/DD$$$�����!���������D
��<!��D�



��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �9�

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

isotropic cover (µn/µs = 1)

cover detached
(no resistance
to slip)

moderate
resistance
to slip

cover welded
to basement
(large
resistance
to slip)

7��� F� ,

��� 

 ����
��
!% ��� ������ 

 ������	��� 
�
	 (���	��� 
� 

�� 

�	� 7
�� 

�	� ��� ���
������ ���������� $��� 7
�����7
�� 	��������� 	
���



� ������� 
�������� L� ��
� ��� �
����
�� 

� ��
��
!�� �
���� L� ����� ��� �
����
�� 

� ����
��
!�� �
���� *
! �
$ �� 

� �
 ���������� �
 ���!� 	����� �
$ 

�

	
������ ���������� �
 ���!� ��� �
$�� �
$ 

� ���% ���� ���������� �
 ���! (��$��� �
��� ��� ����� (���	����



����	�����% �
��� 
����%��� ���!������ ����� (���	���

(�
���� *�� 

��� ��
$� �� 7��� = $��� 

�	�� �� �� ��
�

��
!�� 2������: �
��� $����� �
 ��� (���	��� $��� ��

�����

(���	����
���� ��
	������� *�� 


�$��� �� )<�� �� ����

�<�	!�� (% �!���
%��� +��
 ���
������ ��
�� ��� (���	����

�
��� �
����� 
� ��� 


�$���� ��� �
��+��
 ���
������ !�����

��� �
 ��� 
���� ��
�� ��� (���	�����
��� �
����� 
� ���

������� $����

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �9"

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

anisotropic cover (µn/µs = 5)

cover detached
(no resistance
to slip)

moderate
resistance
to slip

cover welded
to basement
(large
resistance
to slip)

7��� F� 2�
�	�����:



1� ��� ���� 

 !����� (���	��� 
������ ��� ���
������ ���

�����% ���

�	 �� 	�������� ��� �������
� 
��� ��� �������

$��� (�
�� ��� !������� �
 ��� 
����� *�� ���
������ �(
�� ���




�$��� (�
�� ����� 
�
	 �	��� �
��+
���� ���
������ �� ���

��
��� ���
��� �
 +��
 �� ��� (���	�����
��� �
������ *���

��� ���
���% ������(���
�� ��
$ ���� 

� !����� (���	���


����� ��� ���
������ 

��
$ ��� ������� !������ ����	�� ��

��� �������� ����	���� 	
���� 27��� =; ��� G: (�� �
� 

�

������� 
����� 27��� =7:�

*�� 
������ ���!�� 

 ��� 

��� ��� �
����% 	
�
������ 

�

��� !����� 
����� ��� ��%		�����D���������� 

� ��� �������


����� *�� 	
�
������ 

�� �� ����
$ ���� ��� ��! 

 ���


���� ��� (�
����� �!$��� �
 ��� ��
��� ���
���� 7
�

��� ������� 
���� ��� ���!� �� 	
�� ���
���% ��%		�����

���� ��� 
���� ��! ���� ���� ��� ���
����

*�� ���!�� 

 ��� 

����	(� 

 ��� 

���� 

��� �� ��
�

��
!�� �
��� ��� �
����% ��� ��	�� ���������� 

 ���

��
	���% 

 ��� (���	��� 
����� *�� 

����	( ��������

���� ��� �%������� ����� ��� ����� (��$��� ��� ����������

��� �%������� �������

���� ����
	�
�� 
% 	
� �
���

*��� 
�� $� ���� �<!�
��� ��� �

��� 

 ���!� ��� ����� 



���! 
� ��� (���	��� 
���� 
� ��� ���!����	��� ��� ���
���%

������(���
��� *�� ����	�����% �
��� ��� (��� ��
��
!�� ���

��� (��� $����� �
 ��� ����� (���	��� (�
���� 4
$ �� 7��� F

$� �
������ 
��% ������� ���! 
� � 5=� �������� 
���� ���

�<!�
�� ��� �

���� 

 ����
��
!% 

 ��� ����	�����% �
���

��� ��� ���������� �
 ���! �� ��� (���	���D�
��� �
������

1� �� ����� ���� ��� ����
��
!% 

 ��� �
��� 	������% ��J��

����� ��� ��
	���% 

 ��� 

�����

��� *�� 

����	( ��

��
��
!�� �
��� �����������% $����� �!$��� 
�
	 ��� ��! 



��� 
���� $���� ��� ��	( ��!� ��� ����!�� �
 ��� �
! ���
���

$���� ��� ��	( ��!� ��� �����
$��� *�� 

����	( �� ���

����
��
!�� �
��� �� ����������% 

 �
������ $���� ��� ��!�


�
	 ���� ��� 
���� ��! �
 ��� ��
��� ���
���� *��� ��� 

���

��	( ��
���% ����	(��� � ���� 

�� $��� �
����� ������� *��



����	(� �� ����
��
!�� �
��� ����	(�� ��
�� �� ��� !�������

���� �
��������
�� 27��� �;:� *�� 

����	( $���� ��� ��!�

��� ���

�	 $��� ��!�� �� ��� �
����

'��� ��� ������� ���� 
��� ��� 

�����

�� ���
�������

	
��� ��� ������% �<!������ �� �	!
����� �
�����
� ���!
��

��(�� 

� ���������% ��

����� !����!��
�� 

 ��� ���!�� 





�����

��� M ��� ����! ��������� 

���� 

��� ��!�����

(% 4��� ��� -�!!� 2�335:� ����� ��� �
��� 2�339: ���

	��% 
������ ��� ��� �
������ 	
�� 
!�� 

���� 

���

��!����� (% ,����� 2�33�: ��� 
������ ;% ���%��� ��� ����
�

��
!% 

 ��� ����	�����% �
��� 
�� ��� ���% ��� ���!� 

 ���



���� 

��� 
��� � $��� ����� 

 ���!���

��'� &�	��� 
% �������	2�
��� �
�	��	

*�� ���
���% ������(���
�� �� ��� ������� $��� ��� ���


�

����� (% ��� ������ 

 (
����� (��$��� ��� ����	�����%

�
��� ��� ��� (���	��� 27��� F:� *�� (
����� �
�������� ��

��� ���
������� 	
��� ������ 
�
	 �
	!���� ������	���

2
��� ���!: �
 $������ 

 ��� ����	�����% �
��� �
 ��� (����

	���� 7
� (
�� ��
��
!�� ��� ����
��
!�� ����	�����% �
����

��� ������ 

 (
����� �����	���� ��� �������
� 

 ���!�����

	��� �� ��� ����	�����% �
��� 
��� ��� ������� $��� (����

	��� (�
��� 1
 ��������� ��� ����	�����% �
��� 	
���

���������%� ���� ��
��� ��� 
������� �� �������� 1
 !�������%

$������ ��� �
��� 	
��� 
(��&���% �
 ��� 
����� ��� �


�
	!�����% $������ ��� ����	�����% �
��� 	
��� �� ���

�������
� 

 
��������

7��� F ��
$� ����� ���������� 

 ��� ������ 

 ����
��
!%



 ��� �
���� 	��� 

 ��� �
��� �(
�� ��� ������� $���

(�
�� ��� ���

�	 ���
������� *�� ���
������ �(
�� ���

������� $��� (�
�� ��� �����% ���

�	 ��� !������� �
 ���


���� ���
��� �� ��� �
��� ���� �� $����� �
 ��� (���	���� 1�

������
�� ��� ���
������ 
��� ��� 


�$��� (�
�� ��� ������ ��

��� �
��� $����� �
 ��� (���	��� ���� �� ��� �
��� ���� ��

!����% 
� �
����% �������� 
�
	 ��� (���	����

��>� !
������
� *�	
 	���
��� �
���

'� ��� ��
$ $��� ��� ���
������� �<�	!��� ���� ���

����	!��
� 

 � ���������� +
�� 

 ��

�	���
� �� ��������

����	���� 	
���� �� ����
��(�� 

� ��� 

�����

�� 	�����

���	 ����� ������� �
�����
���

*�� ��
�� 

�	 

 ��� ���
���% ������(���
�� 

 ��� 

�����



�� ��� ��� �������� ����	���� ������!��
� ��� ��	����� 7��� 8

��
$� � ���������� (
�����%� $��� �����< ����� 

 �����
!��!
��
���% !����� �� ��� ���
���% ������(���
� 

 ��� ���
�

������� 

�� ��
$� �� 7��� F $��� ��
��
!�� �
��� $����� �


(���	���� 1� �� ����� ���� 
�� ��� �	����� � �
����% ����

������� +
�� $����� $���� ��� ���
������ ��� ���������

���� ��� $����� $���� ��

�	���
� �� �
����������� L������



 ��� ���������� +
��� �(
�� ��� ������� $��� (�
��� ���

�
��� (������ �� � �����% ����� (
�% ��� ���
������ ���

���

�	�% !������� �
 ��� 
����� *�� 


�$��� (�
�� $��

����	�� ����� �� 
�� 	
���� �
 ��� ���
������ ��� +��


������ �� �� ��� ����
� (��
$ ��� 
���� �� ��� �������� 	
�����

*�� ���
������ $����� ���� ���������� ����
� ��
���% ����	(��

��� ���
������ �� ��� ���������� ����
� 

 � �������� 	
���� ��

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �95

0 0.5 1.0 1.5 2.0 2.5

0

0.5

1.0

1.5

2.0

110˚

7��� 8� -
����
� 

� ���
������ ���
����� �
 7
�����7
�� $��� ��!��!
����
�



 �%!
�������� �������� (
��������� 1�
��
!�� �
��� $����� �
 (���	����



��
$� �� 7��� �;� ��� ���
������ �� � �������� 	
��� 



>������ ��� ���	�������� ����� 
�
	 � 	�<�	�	 ���
���%

�� ��� �
! 

 ��� ���������� +
��� 
��� ��� ������� $���� �


+��
 �� ��� (
��
	�

4
�� ���� �� ��� ��� ���
������� 

�����

��� $��� ��������

(���	��� 
����� 27���� = ��� F:� ��� ������������� ����������

����
� 

 �
����+�� ��

�	���
� 
���� $����� � �������� $���

�����< ����� 

 ����� 2
�� $��� 

 ��� �������� ���� ��
�� ���

(���	���D�
��� �
����� �� ��� 


�$��� ��� ��� 
���� $���

���� �� ��� ������� $��� ����:� ����
��� ��� �����< ����� �� �

!���	���� ���� �� 
��� �
 (� ������ �� ��� �������� 	
���� �� ��

�������� �� !
����� 
�� (% ���	�������� 2�339:� $���

!�%����� !�
!���% $
��� �
���
� ���� � !���	����� L�� ���
�

������� ������� ������� ���� ��� �!!�
!����� �����< ����� 

�



�����

��� �� �(
�� ����� ����
��� 
���� 	�������	� 




������������ 

����� 	�% !�
���� ��

����� �������� '����

��� �����< ����� �� ���

�	�% ������ ��� ���
�������

�<�	!��� ��
$ ���� ��� ���
���% ������(���
�� $����� ���

���������� +
�� ��!��� 
� ��� 

 ��� !���	����� $� ����

��
��� �
 ���%/ ��� ��! 

 ��� 
���� 27��� =; ��� G:� ���

������ 

 ������	��� (��$��� (���	��� ��� �
��� 27���

F:� ��� ��� ����
��
!% 

 ��� �
��� 27��� F:�

*�� �������� ����	!��
� �(
�� ��� 	
��	��� 

 ��� �����

��� $��� (�
�� 
���� �
 ��� �
��� �� �
� !��
����% $����� �


��� (���	���� 1� �� ����	�� �� ��� �������� 	
��� ���� ���

���
������ 
������ 

 ��� ���������� ����
�� �(
�� ���

������� $���� ��� ���

�	 ��� !������� �
 ��� 
���� ���
����

'� ��
$ �� 7��� F ���� ���� �� ��� ���� �� ��� 	���������

	
��� 
��% $��� ��� �
��� �� $����� �
 ��� (���	���� '���

��� �
��� �� �
� �
	!�����% $����� �
 ��� (���	���� ����� ��

� ����
�������% �� ���
���% �� ��� (���	�����
��� �
������

7������	
��� ��� �������� ����	!��
� �(
�� � ����������

����� +
�� �� �
� ����� 

� 

�����

��� !�
����� (% ������

(���	��� 
����� 27��� =7:�

�	 ���
 ���� ��� ������������ ���������� ��
��

1� ��� !����
�� �����
�� 

 ���� !�!�� $� ���� �
	!����

��� ��
	���% ��� ����	����� 

 ��� �������� �
��������
�

$��� ��� ��
	���% ��� ����	����� 

 ��� 

�����

�� ���
�

������� 	
���� *�� �������� ��
	���% �!!���� �
 (� (���

	
����� �� ���	� 

 �� ��
��
!�� 
� ����
��
!�� �
���

$����� �
 ��� (���	���� 1� ��� 

�����

�� 	
���� �
$�����

��� ��

�	���
� 
����� $����� �
��
������ �
��� �
��� 
����

�%��� ���!����� ����� (���	��� (�
���� *�� �������� 	
��� ��

���� �
 ������(� ��� ��

�	���
� ���� ��� ��! 

 � 
���� ����

��� !�
!������ ���
 ��� ��

�	�� 	����	� *��� $� ���

	
������� �
 �
	!��� ��� �������� �
��������
� �
 

��



�	� !�
����� ���� ��� ��! 

 � 
���� $����� ��� ��

�	��

	����	� '� ��� � ���% ��	!�� 	
��� 

 
����������� 

�����

�
�������� 

 � �������
��� ����� ���� � 
��� ���
��� �� ��

������� 	����	�

'��� �
��	�
� 
% �
������-����� ��
����

'� ��� ��� �
����
� 

 *��� �� ��� 2�39=: �
 ��������� ���

���!����	���� ��
��� ��� ��! 

 �� ��������� �$
���	���

��
��� 
���� �	(����� �� �� ���
	!�����(��� ������� 	����	

$��� � ������
� 
��� ���
��� 2��
��� ���
���:� 1� ���� �
���

��
�� ��� ��)���� ������� 	����	 �� ��������% �
���� ��� ����

��� ����� ������ ��
�� ��� �	(����� ����� �� ��
!!��� *��



�� �� !�
����� (% ������ ��
! ��
�� ��� 
����� *�� ����

!����	���� �� �� ���
	!�����(�� ������� 	������� ��
��� �


���� ��
�� $���� ��� ����� ������ ��
!� (% �� �	
��� 	 ,�

���/

�, �
	,�
��

� �&
���������
/� � ��

�� �
� � �

��������������
� � ��/� ���

� �
� �

� �� �

�����

�� �
	,�
��

��
��������������

� � ��/� ���
� �� �

���(�

�� $���� � ��� � ��� ���� ��� �
	!��< !����� ��� / �� ���

�
	!��< �

�������� /� ,� ���

'� ��� ��� ,��<�� (� �������� ��� ��� ���<�� �
��+
����� ���

���$ ���� ����� !������� �
 ��� �
��+
����� ���<�� 27��� 3:� *��

�
��+
���� ����� $����� ��� ������� (
�% ��� !������ 	�������

'���� ���� ������� �
����
� !�
����� ���!����	���� ������

���� ���
������� �� �� ��� ����
�� �
����
� 

� 

�����

������

$� ��� �
	!��� ��� 

�� 

�	�� �
��� ����������� ���

���
������ 

 ��� �������� ����	���� ������!��
�� $� �
	!���

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �9=

A
0

0 traction free

B

7��� 9� -
����
�� 

� ������ 
����� ��!���	!
��� �
 ������ �� �!!�
<�	���

�
����
� 

� �� �������� 
���� ���� ��� ��
��� ���
���� 2�: *�� ����� ���

�
�	�� ������
�� 	��� (� +��
 
� ��� �!!�� 2��
���: ���
���� 2;: *�� ��	�

����� ��� �	
��� 

 ���! ��� �!!���� �
 � 
���� �������� 5=� ��� ��� �	���

���
�� ��� �!!�� ���
��� �
 ������ ��� �
�	�� ��� ����� �������� �� ��� �!!���

��
��� ���
����



��� ���!����	��� )��� 

 ��� �������� 	
��� $��� ��� ����

!����	��� )��� 

 ��� 
���� �� ��� ������� 	����	�

1� 
���� �
 ������ �� �!!�
<�	��� �
����
� 

� ��� �

��� 



��� ������
��
��� ��
��� ���
���� $� ��!���	!
�� �
����
��



� �$
 
������ *�� �
����
� ����� �
 �����
% ��� �
�����
�

���� ��� ����� ��� �
�	�� ������
�� ��� +��
 
� ��� �!!��

2��
���: ���
���� 1� 
���� �
 	
��� � ������
� 
��� ��
���

���
���� $� ��J��� ��� 
���� ��� !�� ��� ������ �� �&���

�������� ���
 ��� ��J����� 	����	 �(
�� ��� ��
��� ���
���

27��� 9: ��� �!!�% ��� ��	� ����� ��� �	
��� 

 ���! 
� (
��


������ 1
 ��� 
���� ��� ��� �	��� ��� �������� �� 5=�� �� ��
$�

�� 7��� 9� ��� ����� ��� �
�	�� ������
�� 
� ��� ���
��� ��	

�
 +��
� �
 ��� ��!��!
����
� �
���� ��� !�
(��	 �!!�
<��

	����%� ����
��� ��� �!!�
<�	���
� �� �����
���
�% 

� 
��

!��!
���� 	
�� �����% �<��� �
����
�� ��� (� 
(������ (%


���� 	���
����

'�+� )
�� %
�� ���� 	�� 
% ����-���%��� %���	

7��� 3 ��
$� � 5=� ��!!��� 
���� �� �� ������� 	����	 ����

�� ��������% �
���� �� �
��+
���� �
	!�����
�� -�������

�
��+
���� 	������ $��� ���$� �
��� �
������ *�� 	����	

�� ��������% �
���� ���� ����� �
��� ��� �������� ��
�� ��� 
����

��� ��
!!��� ��� ��� 
���� ���!�� ��� 	�<�	�	 ���!����	���

��
�� ��� 
���� �� ��� ��	�� ��� 
���� ������� *�� �
�� ��

	���������� ��� ��� 	������ ��	��� ��

�	���

*�� 

�� �� � 
����������� 

��� (������ ��� 
���� $�� �
�

���
$�� �
 !�
!������ 1� ��	!�% ���!!��� 	���������� ���

������� *�� ���!� 

 ��� 

�� �� ��� !������ 	������ �� ��

��%		����� 

�� 27��� 3;:� 4��� ��� ��
��� ���
��� ���

!������ ��%��� ��� 

���� �����% �%		��������%� 4��� ���


���� ��! ��� 

����� �� �����% 	
�
������� $��� ����!�%�

��!!��� ��%��� �� ��� 

����	( ��� �����%���!!��� ��%��� ��

��� �
����� (�����	(� *�� ���!����	���� ��
��� ��� 
���� ���

��
$� �� 7��� 3?� �$�% 
�
	 ��� 
���� ��� ���!����	���� ���

�
����% �
��+
����� ?�
��� �
 ��� 
����� ��� ���!����	����

�������� ��� (��
	� !������� $��� ��� 
����� H!��
� �� ������

���� ���� (����� ��� 
���� ��! $���� ��� ���!����	���� ���

������% ���������

*�� 

����	( ��
	���% 

 ��� 
����������� 

�� �� ��	���� �


��� 

����	( ��
	���% 

 ��� 

�����

�� 27���� = ��� F: ��

��
��
!�� 	����� 1� ���� 

�� ��� 

����	( ��!� ����!�% ����

��� 
���� ��! ��� ��!� 	
�� �����
$�% �� ��� ��
��� ���
����

1� (
�� 	
���� ��� ��%����� �� ������� �� ��� 

����	( ���

��������� �� ��� ���������� ������ � �������������� 

 ���


����������� 

�� ���� �� ���������% ��

����� 
�
	 ��� 

�����



��� 
����%��� �������� (���	��� 
����� �� ��� �<������� 



(�����	( �
����
�� *�� (��� ��	( ��!� �����% ��� �����%

���

�	�% �
 ��� ��
� �� ��� 
����������� 

��� *�� 

�����



��� 
����%��� �������� (���	��� 
����� 27���� = ��� F:

���!��% ������ (�����	( �
����
��

*�� ��

�	���
� �� ��� 
����������� 

�� �� ������% ��

�����


�
	 �������� ��

�	���
� M ����� �� �
 ������������� ����

������� +
�� 

 �
����+�� ��

�	���
�� '���� ��� 

����	(

��
	���% ����	(��� ��� 

����	( ��
	���% 

 �������� 

���

M $��� ����!�% ��!!��� ��%��� ���� ��� 
���� ��! ��� ��������

��� ��!� �
$���� ��� ��
��� ���
��� M ��� (�����	( ��



����� � 

���� (�����	( ����
� (� ��������� ����� ���

����	!��
�� 

 ��� �������� 	
��� (������ ��� ���
���%

����
� $����� ��� ������� $��� �� �������� � �
������

���
���%�

�	  ����������

� �
	!���� 	��������� �
����
�� )
����-)
���!�
����� �

���&�� �
����
� 

� ���� ��� 

 !���	����� ��� ���	������ ���

������(�� �������
� 

 �� ����)���� ��	(�� 

 !
���(��

�
����
�� 

� ���
���% )���� ���
���+�� (% >������ ���

���	�������� 2����:�

'� ���� ��	
�������� �� ���� !�!�� ���� ��� ����	!��
��

���� �� ��� �������� ������!��
� M �!���)����%� ��� ����

������� +
�� 

 ��

�	���
� ��� ��� (
�����% �
�����
��

M ��� 	
�� �����% �!!�
!����� 

� ��� 

�����

�� 	�����

���	 ���� ��� 
����������� 

�� 	�������	� ;���� 
� ���

������� 

 ��� 	��������� ����%��� 

 ���
������ ��� ����

!����	���� �� 
������������ 

���� )
����-)
�� !�
�����

���

�	 ���
������ �(
�� ��� ������� $��� 

 ��� (���	���


����� 	��� ���� ��� ���

�	 ���
���% ������(���
� ����	��

�(
�� ��� ������� $��� ��� 
������ ��� ���������� ����
� 



��� �������� �
��������
�� 7������	
��� �� ��� ���� $���� ���

�
��� �� $����� �
 ��� (���	���� ��� ���
������ �(
�� ���

������� $��� (�
�� ��� !������� �
 ��� 
����� �� �� ����	�� ��

��������� � ���������� ����
� 

 �
���������� ��

�	���
�

$��� � �����< ����� 

 �(
�� ����� ��	���� �
 ��� ��������

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �9F

� 7
� �<�	!��� ��� #
����� ��� 6
�+������ 2�383:�

7��� 3� 2�: B�
	���% 

 ��� 
���� ��� !������ 	������ �� ��� 	���������

	
��� 

 � 
���� �	(����� �� �� ������� 	����	� 2;: 7
�� 

�	 !�
����� (%

��
!!��� ��� �������� 
� ��� 
���� �� ��� ��������% �
���� 	����	�

*�� 	�<�	�	 ���!����	��� 
� ��� 
���� �� ��� ��	�� ��� 
���� �������

2?: G��!����	���� �� ��� ������� 	����	 �
��� ��� 
���� ���!��



���������� +
��� ��� (� �	������ �� ��� 

�����

���� ��

����������� �� 7��� 8� ��� �
$�� (
�����% 

 ��� ����������

����
� $
��� ��� 
� ��� 


�$��� ���� 

 ��� (���	�����
���

�
������ (��
$ $���� ��� ���
������ ��� +��
� *�� �!!��

(
�����% 

 ��� ���������� ����
� $
��� ��� �(
�� ���

������� $��� ���� 

 ��� 
�����

'� ���� ���
 �
	!���� ��� ���!����	���� ��
��� � 
����

�� �� ������� 	����	 $��� ��� �������� ���!����	����

(������ ��� �������� ������!��
� 	
���� 
�����!�
!�����
�



������ *�� �������� ����	!��
�� ��� ������% �
� �!!�
!�����

�
 ��� !�
(��	 

 � 
���� �	(����� �� � ��

�	�� 	����	�

���� �� ��� 
����������� ������� 	
���� *�� 
����������� 	
���

!�
����� � �
	!������� )��� 

 ���!����	���� ���� �� �
�

�
�������� $��� ��� �������� ����	!��
��� *�� (�����	( 



��� 
����������� 

�� �� ��

�	�� ��� ���� ����� �� �
� �

�������� ���������� ����
� 

 �
���������� ��

�	���
�

��
��� ��� ��! 

 ��� 
����� �� �� ����	�� �� ��� ��������

	
����

�����!��
�������

'� $
��� ���� �
 ����� ��� �����$��� ���� >������ ���

,��� ,����� 

� ����� ���!
�� �
		����� '� ��� �����
�� �


��� G�!���	��� 

 ,����% 2����� G,�7B���39,��599F: 

�

��!!
�� 

 ���� ���������

"���������

���	��������� ��'�� �339� 1������ ��� 

�$��� ��	������ 	
������ 



�������� 
�����!�
!�����
� 

���� *���
���� �8 25:� F5�CF=F�

,������ ,���� �33�� *������� 
�����!�
!�����
� 

������ B�
�
�% �3�

F�8CF���

7�������� ��?�� #
������ G�G�� �333� ?�� $� ���������� ���������� ���

����
��� !�
������ ��� ����� !�
����� $���
�� �!!��� �
 � �
	!����

	��������K� �
����� 

 -��������� B�
�
�% �� 29C3:� ��8�C��99�

6���%� -�� 7
��� ��� �338� 4�	������ 	
������ 

 �������� 
���� !�
!��

����
� 

������ *���
���� �F 2=:� 95�C9=5�

�
���
�� ����� �38�� #�%����� #�
������ �� B�
�
�%� 7���	��� ?

!�� ���

?
	!��%� -�� 7�������
� =88!!�

�
���
�� ����� �388� -�%��� 

 7
������ ,�������� 4�$ N
��� 5�F!!�

�
���
�� ����� 7�������� ��7�� �335� 7
����� 

 0���
�� .�%���� ?
��	(��

H��������% #����� 4�$ N
��� 5F�!!�

�
���
�� ����� �
���
�� ����� ����� 0
��	� =/ ���������� ����%��� 

 ���

��
	���% 

 

�����

���� 1�/ *�� #����� 7��< #�� ������� #�����

�������� 7
������
�� #����� H��������%� ������(�� 

� �
$��
�� ��

$$$�����!���������D
��<!���

.
��� ��,�6�� �355� � *������� 
� ��� �����	������ *��
�% 

 ,��������%�

G
��� #�(������
��� 4�$ N
���

�������� .�,�� �3F3� 1���
�����
� �
 ��� ��������� 

 � ?
�����
��

�����	� #��������6���� ,����$

� ?��

�� 4�� 8�"!!�

������ -�� �
���� 0�-�� �339� 7
������ (���	�������
���� �����������

�	������ ���
�����
� 

 #���
���	 B�
�
����� 9� 2�:� 8�C��3�

4���� '�� -�!!�� ��� �335� ����	����� 

 (���	�������
���� �
	!�������

����������� �	������ �
����� 

 -������ �35� 9��C9F��

#���
�� *�.�� 7�������� ��?�� �339�� �����	������ (�
���	
��
� 	
��� 

�

��

�	���
� 

 � ��%�� �(
�� � (����� 
���� 

 ��(�����% ��! ��� ����� 



���!� �
����� 

 -��������� B�
�
�% �8 2��:� �5==C�58��

#���
�� *�.�� 7�������� ��?�� �339(� � ���
�
����� 	
��� 

� 
�������� �
���

�
����� 

 -��������� B�
�
�% �� 2=:� 53�C=���

#
������ G�G�� 6
�+������� B�� �383� L� ��� 	��������� ���������
�

(��$��� � J����)���� 
������� ��� ��� �����A� ���
���� *���
�
!�%����

="� �8C=8�

-������� G�'�� �389� 7������� ��� 

���� 

����� �� ��� �
��% �
������



������� B�
�
����� -
����% 

 �	����� ��	
��� �=�� �C"9�

-�!!�� ��� �39=� #�����!��� 

 -��������� B�
�
�%� #��������6����

,����$

� ?��

�� 4�� ="8!!�

*���� 6�� #����� #�?�� 1�$��� B���� �39=� *�� -����� ����%��� 

 ?�����

6���(

�� #���� #�
�����
��� -�� .
���� �1�

*�	
�����
� -�� B

���� ��4�� �3=�� *��
�% 

 ,��������%� ��B��$�6����

4�$ N
���

>������� ��*�� ���	��������� ��'�� ����� 0��
���% )��� 

� ��� ��������

	
���� �
����� 

 -��������� B�
�
�% ��� ���3C���5�

��0� 1

��
�� ��0� 1

��
� 2 1
����� 
% �	���	���� ��
�
3� +' 4+((+5 +  6+7 �98


